
Item Required Stock Make Hire/ Buy Info Prepped Box No. Bag No. Location Required
8x4 Steel Deck 10 29 Pit Stage
8x2 Steel Deck 3 5 Pit Stage
4x4 Steel Deck 5 7 Pit Stage
4x2 Steel Deck 2 2 Pit Stage
400mm Legs (With Feet) 80 138 58 left in stock, cut 22 more x Trolley Stage
M10 70mm Bolt, Nut & Washer Set 30 x Trolley 1 Stage
Ratchet Strap (Hook Ended) 2 x Trolley 1 Stage
Steel deck spacers 10 x 1 Stage

400mm Treads 5 Rehearsals- 204,205,206,207, Stage- 201,202 x Stage
Custom Front Tread 1 Workshop- How is this being attached Wshop Stage
Small Brackets 8 x Trolley 1 Stage
Backflap Hinges 12 x 1 Stage

Item Required Stock Make Hire/ Buy Info Prepped Box No. Bag No. Location Required
Windows (5)
800mm Alloy Leg with 2 Barrel Clamps 1 x Stage
Pipe to pipe clamp 2 x Stage
Barrel Clamp 8 46 x 1 1 Stage
1t Shackle 10 121 2 on 800mm leg and 8 in bag x 1 1 Stage
M6 Eye Nut 10 10 Flints x 1 1 Stage
M6 Coach Bolt 50mm 10 10 Flints (also ordered 45mm) x 1 1 Stage
4mm Black Poly Cord 5300mm 4 4 51m in  total x 1 1 Stage
4mm Black Poly Cord 4800mm 2 2 x 1 1 Stage
4mm Black Poly Cord 5000mm 2 2 x 1 1 Stage
4mm Black Poly Cord 4900mm 2 2 x 1 1 Stage

Rooftop (2)
Barrel Clamp 4 46 x 1 2 Stage
1t Shackle 8 121 x 1 2 Stage
0.5t Shackle 4 x 1 2 Stage
Large Turnbuckle 4 25 x 1 2 Stage
4mm 4000mm Drift 2 7 x 1 2 Stage
4mm 7700mm  Open Ended Drift 2 9 x 1 2 Stage
4-5mm Wedge Socket 2 x 1 2 Stage
3-4mm Dogs 2 30 x 1 2 Stage

Mid Stage Flats
Stage Weights 6 22 Dock Stage

Item Required Stock Make Hire/ Buy Info Prepped Box No. Bag No. Location Required
H30V Box Truss 0.5m 4 6 x Stage
H30V Box Truss 1m 4 6 x Stage
H30V Box Truss 2m 2 6 x Stage
H30V Box Corner 4 6 x Stage
H30V Base Plate 4 4 x Stage
Prolyte Female Conical Couplers 32 72 x Stage
Prolyte CCS6-603 Pin 112 269 x Stage
Prolyte CCS6-605 'R' Clip 112 279 x Stage
Prolyte CCS6-600 Conical Coupler 48 115 x Stage
2" Open Ended Ratchet Strap 2 x 2 Stage
18mm Ply- 180mm x 600mm 4 4 x 2 Stage
Coach Screws 8 x 2 1 Stage
Wooden Packer 2 2 For base plates on steel deck x Stage

Doughty Swivel Clamp 4 21 x 2 Stage
2400mm Scaff Bar 2 8 x Stage
3000mm Scaff Bar 2 9 x Stage
Kee Clamp Base Plate- Full 4 x 2 Stage
200mm Scaff Leg 4 x 2 Stage
Kee Clamp Single Swivel Socket 4 6 x 2 Stage
Coach Screws 16 x 2 2 Stage

Optional Safety
Ring Plates 4 x 2 2 Stage
Ratchet Strap- Hook Ended 4 Grid 2 2 Stage
1t Shackle 4 16 x 2 2 Stage
300mm Climbing Sling 4 x 2 2 Stage

Uni Beam 4m 4 5 x Stage
Heavy Duty Scenery Carrier 320kg 4 6 x 2 Stage
Scenery Carriers 100kg 4 6 x 2 Stage
Doughty Half Coupler 8 42 x 2 Stage
600 Scaff Leg 8 90 x 2 Stage
Doughty Swivel Clamp 16 21 x 2 Stage
Uni Beam End Stop 8 5 x 2 Stage
Wooden Support 16 16 To attach track to flat frames- drill holes x 2 Stage
Uni Beam Studding (M12) 16 Consists of bolt, 3 nuts, 3 washers & unistrut nut x 2 1 Stage
      M12 Bolt/ Threaded Rod 120mm+ 16 2x 1m https://www.toolstation.com/threaded-bar/p26973 x Stage
      M12 Nut 48 x Stage
      M12 Washer 48 x Stage
      Uni Strut Nut 16 x Stage
Wooden Batten 4880mm (Flat Supports) 4 Workshop x Stage
Wooden Batten 4880mm (To Attach Castors) 2 Workshop x Stage
Fixed Straight Castors 8 12 x 2 1 Stage

Item Required Stock Make Hire/ Buy Info Prepped Box No. Bag No. Location Required
1800x6000 Hard Masker 6 8 707, 708, 709, 710, 711, 712 x Stage
Large Brace 2 x Stage
Thimble 8 x 3 1 Stage
1t Shackle 24 121 6 per masker x 3 1 Stage
Large Turnbuckle 8 25 2 per masker x 3 Stage
4mm Wire Rope Drift-7m 8 33 2 per masker x 3 Stage
Opera Hinges 14 2 per masker x 3 1 Stage

Item Required Stock Make Hire/ Buy Info Prepped Box No. Bag No. Location Required
13 x 4 Pros Border 1 1 101 Bacchae Stage
16 x 5 Border 1 5 108 Bacchae Stage
15 x3 Border 2 103, 104 Bacchae
15 x 8 Full Black 1 2 301 Bacchae Stage
12 x 4 Leg 2 8 011, 012 x Stage

Show
Date

Created By

Raised Deck

 Equipment List
The Speculator

23/10/2020

Hard Masking

Darren Wilson

Set Rigging

Soft Masking

Backdrop Track



8 x 4 Leg 4 8 001, 002, 003, 004 x Stage

Soft Masking Rigging
Dog Leg Frames 4 6 x Stage
Bar Extensions- Small (1m) 4 20 Border 1 & 2 x Stage
Bar Extensions- Large (2m) 4 12 CYC, Back Full Black x Stage
3000mm Scaff 2 8 x Stage
Barrel Clamp 4 46 Pre rigged to scaff x Stage
1t Shackle 4 121 Pre rigged to scaff x Stage
Thimble 4 Pre rigged to scaff x Stage
2t Shackle 4 Pre rigged to scaff x Stage

Item Required Stock Make Hire/ Buy Info Prepped Box No. Bag No. Location Required
CYC 1 1 Green Cyc Bag 1- 501 Stage

Black Line 20m 2 2 ONLY IF THE CYC NEEDS STRECHED Cupboard 3 Flys 
4mm Nylon Cord- 2m 14 x 3 2 Stage
Hold on clips 20 x 3 2 Stage
Ring Plate 2 x 3 2 Stage

Item Required Stock Make Hire/ Buy Info Prepped Box No. Bag No. Location Requried
Pros Border (12m) Already rigged from Bacchae
3.75m Conduit (25mm) 3 24 x Stage
0.5m Conduit (25mm) 1 7 x Stage
Bullet End 1 x Stage
Joiner 3 x Stage

Border 1 (14m) Already rigged from Bacchae
3.75m Conduit (25mm) 3 24 x Stage
1.75 Conduit (25mm) 1 4 x Stage
1m Conduit (25mm) 1 8 x Stage
Bullet End 1 x Stage
Joiner 4 x Stage

Border 2 (14m) Already rigged from Bacchae
3.75m Conduit (25mm) 3 24 x Stage
1.75 Conduit (25mm) 1 4 x Stage
1m Conduit (25mm) 1 8 x Stage
Bullet End 1 x Stage
Joiner 4 x Stage

Border 3 (11.5m) Already rigged from Bacchae
3.75m Conduit (25mm) 3 24 x Stage
Bullet End 1 x Stage
Joiner 2 x Stage

Full Black 2 (15m) Already rigged from Bacchae
3.75m Conduit (25mm) 4 24 x Stage
Bullet End 1 x Stage
Joiner 3 x Stage

CYC (15m) Already rigged from Bacchae
3.75m Conduit (25mm) 4 24 x Stage
Bullet End 1 x Stage
Joiner 3 x Stage

Item Required Stock Make Hire/ Buy Info Prepped Box No. Bag No. Location Required
Thimbles 12 ? x Stage
Shackle- See what size fits 12 x Stage
Barrel Clamp 24 46 x Stage
2000mm Scaff Pipe 6 20 x Stage
1t Shackles 12 121 x Stage
2t Shackles 12 x Stage
4mm 6000mm 12 ? x Stage

Item Required Stock Make Hire/ Buy Info Prepped Box No. Bag No. Location Required
Steel Polywrap- 1.5m 4 9 x FOH Gods
3 1/4t Shackle 8 37 x FOH Gods

Load Gaurd 500kg Chain Hoist 2 6 x FOH Stalls
Motor Power & Control Cable Loom (15m) 2 6 x FOH Stalls
32a-16a Breakout Box 1 1 Booked from Venues x FOH Gods
32a Cable (5m) 1 1 x FOH Gods
Motor Control Double Pickle 1 1 x FOH Gods
0.5T Load Arrest Reel 2 2 x FOH Stalls

3 1/4t Shackle 4 37 x FOH Stalls
Soft Steel 3m 4 8 x FOH Stalls

H30V Box Truss 2m 1 6 x FOH Stalls
H30V Box Truss 3m 1 8 x FOH Stalls
Prolyte CCS6-603 Pin 8 269 x FOH Stalls
Prolyte CCS6-605 'R' Clip 8 279 x FOH Stalls
Prolyte CCS6-600 Conical Coupler 4 115 x FOH Stalls

Truss Border 6 x 0.6 m 1 3 113 x FOH Stalls

Item Required Stock Make Hire/ Buy Info Prepped Box No. Bag No. Location Requried
Blue Swivel Pulley- Single 10 10 Can use any size x Grid
Blue Swivel Pulley- Double 5 x Grid
Blue Swivel Pulley- Triple 3 x Grid
300mm Climbing Strop 10 18 x Grid
Single Loft Block 34 34 x Grid
Tripple Loft Block 26 30 x Grid

45 hemp points
20m Hemp Line (Red) 4 4 x Grid
30m Hemp Line (White) 20 20 x Grid
44m Hemp Line (Blue) 21 21 x Grid

Item Required Stock Make Hire/ Buy Info Prepped Box No. Bag No. Location Requried
Carpet Runners 5m 4 4 x Stage

Quick Change 
Small Hard Masking Flats 3 x Stage
Black tat 1 x Stage
Rope- 2m 1 x Stage

Cloths

Conduit

Grid- Hemp Points

Misc

LX FOH Truss 

LX Ladders


